
Time: 40 Minutes Paper Math 2 Total Marks: 25

4th Month, 2nd Week, 6th Day Syllabus: Revision Test.

Q.1. Choose the correct option and fill in the blanks. (1.5×6=9)

ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzgggg{{{{àààà((((%%%%ææææFFFFNNNN™™™™,,,,XXXX

(i) To measure the mass of lighter object, we used ________________.

ÐÐÐÐ¥¥¥¥xxxx™™™™DDDD÷÷÷÷XXXX ________________ ÑÑÑÑqqqqzzzzVVVV»»»»ââââkkkk

(a) Kg (b) g (c) m (d) km

(ii) Standard unit of mass is ________________.

ììììXXXX ________________ ââââkkkk»»»»££££gggg~~~~----....$$$$ìììì

(a) g (b) kg (c) m (d) km

(iii) The symbol of kilogram is ________________.

ììììXXXX ________________ ³³³³¤¤¤¤////ZZZZxxxx»»»»ÒÒÒÒ

(a) m (b) km (c) g (d) kg

(iv) The symbol of gram is ________________.

ììììXXXX ________________ ¤¤¤¤////ZZZZxxxx»»»»ÒÒÒÒ

(a) g (b) m (c) km (d) kg

(v) 1 Kg = _________________ g

(a) 1000 (b) 100 (c) 10 (d)

(vi) To measure the mass of heavy objects, we used ________________.

ÐÐÐÐ¥¥¥¥xxxx™™™™DDDD÷÷÷÷XXXX ________________ ¸̧̧̧gggg~~~~qqqqzzzzVVVV»»»»ââââkkkkëëëë

(a) g (b) m (c) kg (d) km

Q.2. Solve the following. (2.5×4=10) ŠŠŠŠgggg̀`̀̀ffffssssÃÃÃÃiiii™™™™,,,,XXXX

(i) 5 3 g (ii) 8 5 kg

+ 2 7 g +   g kg

(iii) 3 5 kg (iv) 4 2 g

– 1 6 kg – 2 3 g

Q.3. Maryam bought 60g red pepper and 35g black pepper. Tell the total

mass of both peppers. (6)

³³³³¤¤¤¤////ZZZZxxxx»»»»àààà%%%%aaaayyyyhhhh++++CCCCììììXXXX%%%%aaaaVVVV»»»»®®®®ÿÿÿÿ NNNN
ââââkkkk¥¥¥¥xxxx™™™™,,,,XXXX 35 ¤¤¤¤////ZZZZxxxxÑÑÑÑwwww%%%%aaaaZZZZzzzzgggg 60 %%%%****
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